Solutions for the Quiz (x marks correct answer)
1. How many Parties have ratified the UNFCCC?

a. 174

b. 184

c. 194 x
2. What are some of the main climate change impacts? (Several answers possible)

a. Loss of habitat and species x
b. Reduced crop yields x
c. Increased spread of diseases x
d. Inundation of coastal lands x
3. Even if we manage to reduce GHG emissions by 80 percent by 2050, will it be necessary to adapt to climate change?

a. Yes x
b. No

4. What commitments are there on science and technology in the UNFCCC?

a. None

b. Cooperate on technology transfer

c. Promote scientific research and cooperate on technology transfer x
Mitigation

5. Rank these sectors from biggest to smallest based on the size of their GHG emissions:

a. Energy (25.9%) - 1
b. Agriculture (13.5%)- 4
c. Industry (2: 19.4%) - 2
d. Forestry (3: 17.4%) - 3
6. How would you recognize an emissions sector for which there is a cause for concern?

a. Increasing emissions x
b. Decreasing emissions

c. Increasing emissions and no action taken to reduce emissions x
7. Which of the two statements regarding auditing climate change mitigation in developing countries would say is more correct?

a. Auditing climate change mitigation in developing countries is important because emissions are growing faster in developing than developed countries, and because reaching the 2-degrees target must involve a stabilization of emissions in developing countries x
b. It is not relevant, because developing countries have no commitments under the Kyoto Protocol

8. Which countries have quantified emissions reduction targets under Kyoto Protocol?

a. Annex I Parties x
b. Annex II Parties

c. Non-Annex Parties

9. How can CO2 taxes (or equivalent) work as a policy instrument for mitigating GHG emissions? (Several answers possible)

a. It puts a price on emitting GHGs and therefore increases the incentive for reducing emissions x
b. It creates incentives for using for instance energy forms that do not cause CO2 emissions

c. It makes it impossible to use private cars and therefore reduces emissions from the transport sector

Adaptation

5. What does adaptive capacity mean?

a. A system’s capacity to realise adaptation x

b. The capacity to avoid climate change

c. People's willingness to adapt

6. What is a good way to reduce vulnerability to climate change? (Several answers possible)

a. Increase adaptive capacity x

b. Reduce potential impacts x
c. Mitigate emissions of GHGs

7. What commitments do developing countries have in adapting to climate change?

a. Develop and implement programs of adaptation 

b. None

c. Develop and implement programs of adaptation, and cooperate on research, technology transfer and adaptation in coastal zones, water resources, agriculture, drought and desertification x
8. Which of these could be an adaptation measure? (Several answers possible)

a. Early-warning system for  flooding x 

b. Funding for monitoring of climate systems x

c. Clean Development Mechanism

Matchlist:
	1. What is climate change?
	C
	A. Human activity creating increased GHG emissions (and natural changes)

	2. What is the cause of climate change?
	A
	B. The Ministry of Environment (and Climate Change)

	3. What is the main objective of the UNFCCC?
	D
	C. When the climate deviates from the average climate during a long period of time

	4. Who is the most likely to have the overall responsibility for climate change policy in a given country?
	B
	D. To achieve stabilization of GHG concentrations in the atmosphere at a level that would prevent dangerous anthropogenic interference with the climate system

	5. What is mitigation?
	G
	E. Emissions trading scheme

	6. What is an important policy instrument for mitigating emissions?
	E
	F. An overall reduction of GHG emission by 5 percent compared to 1990 levels over the period 2008–2012

	7. If all countries fulfill their commitments under the Kyoto Protocol, what will the outcome be?
	F
	G. Implementation of policies to reduce GHG emissions or enhance sinks


Matchlist adapatation

	1. As an audit criterion for adaptation, which of the articles of the UNFCCC is the most important?
	B
	A. Rising sea temperatures and ocean acidification

	2. What is almost always a necessary precondition for successful adaptation?
	C
	B. Article 4

	3. What is adaptation?
	D
	C. Long-term planning based on vulnerability assessments

	4. What are the main climate change-related threats to coral reefs?
	A
	D. Take action to moderate harm or exploit benefits caused by effects  of global warming

	5. What is climate change?
	G
	E. Human activity creating increased GHG emissions (and natural changes)

	6. What is the cause of climate change?
	E
	F. The Ministry of Environment (and Climate Change)

	7. What is the main objective of the UNFCCC?
	H
	G. When the climate deviates from the average climate during a long period of time

	8. Who is the most likely to have the overall responsibility for climate change policy in a given country?
	F
	H. To achieve stabilization of GHG concentrations in the atmosphere at a level that would prevent dangerous anthropogenic interference with the climate system


